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Question 1 (5 points)

Mark the correct answer. There is a one and only one correct answer for each item.

1) What is it called when we send a sequence of packets and wait for acknowledgement to each packet before sending the next one?


A) stop-and-wait protocol


B) congestion control


C) packet sequencing


D) flow control

2) What is responsible for maintaining the number of packets within the network below the level at which performance falls off dramatically?


A) queuing


B) Error control


C) packet control


D) congestion control
3) The two basic types of transport service are:


A) centralized and decentralized


B) elastic and inelastic


C) connection oriented and connectionless

D) flexible and unflexible

4) A process with a host using TCP services is identified with a  _________ .


A) signal


B) port


C) multiplex

D) gateway

5) Connection establishment in TCP always uses a _________ handshake.


A) two-way


B) four-way


C) one-way


D) three-way
6) The ________ mechanism enables the Internet to make sure that the TCP entity is not sending too many segments into an already congested environment.


A) slow start


B) limited transmit


C) fast recovery


D) fast retransmit

7) The router delays will often be the biggest contributor to __________ , especially in times of congestion.


A) window sizing


B) End-to-End delay


C) data rate availability


D) error control

8) Internet _________ allows routers and/or receiving stations to limit the rate at which they receive data.


A) error control


B) flow control


C) fragmentation control


D) reassembly

9) A packet sent to a _________ address is delivered to all interfaces identified by that address.


A) anycast


B) megacast


C) multicast


D) unicast

10) The _________ protocol is an example of a routing protocol that uses link-state routing.


A) IDRP


B) BGP


C) RIP


D) OSPF

Question 2 (5 points)

Complete the following exchanges between A and B by adding the right sequence number.

a) Go-Back-N


b) Selective Repeat


Question 3 (10 points)

A company has the class C address 193.4.5.0/24 to address its proper network represented in the figure below. The number of hosts on each subnet should be kept to the maximum. Complete on the figure the addresses of each subnet with correspondent masks (or prefixes), the addresses of equipments connected to these subnets, and the broadcast addresses of each subnet.
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